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ENAHERE 34 36 -2 -5.6
SHEZERE 35 53 -18 -34
SMERERE 78 75 3 4
INGERE 8 15 -7 -46.7
e%"dtﬁzggéé 417 395 22 5.6
SNEERE 224 181 43 23.8 1443
IRHZERE 135 123 12 9.8
SMAERE 58 71 -13 -18.3
ANEZERE 271 238 33 13.9
EFERE 29 15 14 93.3
=SERE 72 66 6 9.1
BETERE 82 67 15 22.4
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E$§ 11*[1755 T-‘*DGE i%;jazé& i%;)ﬁl—%z(%) I;R-Fé1$
ENDAHERE 0 2 -2 -100
SHEERE 1 1 0 -
EMERERE 0 1 -1 -100
INGERE 0 1 -1 -100
SWitERE 6 8 -2 -25
SREERE 3 6 -3 -50 16
IRHZERE 2 2 0 -
SNEERE 0 2 -2 -100
ABERE 3 3 0 -
EFERE 0 0 0 -
=SERE 1 0 1 -
BETERE 0 2 -2 -100
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E$§ 11*[1755 T-‘*DGE i%;jazé& i%;)ﬁl—%z(%) I;R-Fé1$
ENAHERE 4 1 3 300
SHEZERE 0 3 -3 -100
EMERERE 3 3 0 -
INGERE 0 0 0 -
=t dtﬁgggéé 27 20 7 35
SNEERE 12 4 8 200 83
RHERE 9 3 6 200
SNEERE 2 3 -1 -33.3
ANEZERE 13 12 1 8.3
EFERE 1 3 -2 —66.7
=SERE 5 2 3 150
BEFERE 7 2 5 250




